

Apartment in Paola



Paola, South



€180,000

Reference No: 240461057-150

 Total Rooms: 4

 Floor Area (m²) : 55

 Bathrooms: 1

 Bedrooms: 1

Apartment - For Sale - Paola

PAOLA - New Development APARTMENTS for sale, conveniently located close to all amenities. The property layout consists of a Kitchen/Living/Dining area, 1 Bedroom, a main Bathroom, a Boxroom and a front balcony. The apartment is being sold in shell form, with a completion date set for 2027. Optional Garage and Car Spaces are available at an extra cost. For more information, please contact your preferred RE/MAX agent.

Features

- ✓ Balcony

Rooms

- ✓ Bathroom : 2.9 x 2.5 m (7.25 m²)
- ✓ Box Room : 1.88 x 1.5 m (2.82 m²)
- ✓ Double Bedroom : 2.9 x 2.5 m (7.25 m²)
- ✓ Hallway : 7.68 x 0.9 m (6.91 m²)
- ✓ Kitchen/Living/Dining : 3.5 x 7.77 m (27.2 m²)
- ✓ Open Space : 3 x 1.25 m (3.75 m²)

Gallery







Alex Calleja

RE/MAX Professionals - Mosta

M: 99838927

E: alexc@remax.com.mt

T: 27998977

RE/MAX Professionals - Mosta

24, Vjal L-Indipendenza, Mosta, Malta